EXPLORE

explore-glazing.nl

Explore Overlander & Overlander Light
ltem Qty Partname Description
1 2 spring latch 4 x M5 x 12 pin-in trx (2x)
2 2 protection plate 2 x M5 x 8 hex (2x)
3 3 hinge 2 x M5 x 10 pin-in trx (3x)
if applicable:
4 2 airline rails 7 x M5 x 8 FHP (2x)




	Sheets and Views
	Sheet1


